x 2 = JTHhY T (ZFS')—4)

5 B s ER/VEER
=] i2 2019.3. 16 (%)
B 36 BF RE 9:00 — A LT 0:45
BT EE SR 0:07
BiK 0:00:00
s\y—4 s\)—4
RIEWA ACEZ
EHIE J\IR
=) EBMNE
EME
Ad—hk BI—hk
BB P E %— . BtEFE gﬁ N
1 F—L%&l  REBWA VS EHE 1 F—L% BREE |VS R
9.00 [ & EH ACE# IR 000 |RA| B £HNE EEWA
T.O R T.O ACE#
BABFE %‘- BtEFE Eﬁ
> F— L% ACE#A VS NR 0 F—4u%| PyFa—k VS| F7yvTa—t
9:52 HEel = EHIE EHE 9:52 HEl =
T.O SRIEWA T.O
BABFE %‘- BtEFE Eﬁ
3 F—La| EH/HLSE|VS FHR 3 F—Lu%| PyFa—k VS| FvTa—+
10:44 |FRE| BH RIEWA RE 1044 | B[ BN
T.O BHIRE T.0
BB E %‘- BtEFE Eﬁ
p F—L4 RIEBWA VS e A F—4%| PyFa—k (VS| FyvFa—k
11:36 HEe| &= BEIE J\R 11:36 HE| B
T.O FHE T.0
B FE %‘- . BtEFE gﬁ
5 F—LA BER VS R 5 F—4u%| PyFa—k VS| 7vFTa—+
12:28 HE| & ACE% RIEWA 12:28 RE| B
T.O E=HHE T.O
B FE %‘- BtEFE gﬁ
6 F—L% ACE# VS RIEBEWA 6 F—4%| PyvFa—k |vs| PyvyFa—r
13:20 HE| & EHLIE J\R 13:20 HEl =
T.O e T.0O BHR
B FE %‘- BtEFE gﬁ
7 F-L%l EfHHAE VS R 6 F—4u%| PyFa—k VS| F7yvFTa—+
14:19 |FRE| BH RIEWA BEIRE 1412 |RE| BN
T.O FHE T.0
B FE ';'Er . BT E gﬁ
8 F—L4|  REWA  |VS BHE 6 F—4%| PyFa—k VS| PyvFa—b
15:04 HE| & EHIE ACE%Z 15:04 HEl =
T.0 ACE% T.0
B FE ';'Er BT E gﬁ
9 F—oa| EHHLSE VS ACE# 6 F—£%| PyFa—k (VS| PyvTa—b
15:56 HEel B wE BEHR 15:56 HEl =
T.O e T.O
T | o P |
F—L% e VS FHE F—L% VS
10 6
16:48 HE| & SEWA BEE 16:48 HEl =
T.O EHHE T.O




